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The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words

as far as practicable.

Spoken Sanskrit

A. FHEHATR foga (MCQ): 2x10=20
1. ‘9o <9 F9f<’ sre arerafiedd fh 9?2
(a) Y: @ TG (b) W&T: <9 T
(c) Wi q@: Tmf< (d) ¥ TF: T
2. SM: TRR: |
(a) foraa (b) eTfRa=
(c) Faa (d) sfpaar
3. 9o UI6:
(a) Tfadq (b) ufea:
(c) ufear: (d) afa
4. ‘o8 foenfor gpar sore areufieny foh w92
(a) 31 faanfor guam (b) 7= Te=for guam
(c) ¥ fernfor geifs (d) = fesi gom
5. gIE
(a) GH (b) gl
(© T d) g
6. fom fo=n =1 wafal
(a) #™Hq (b) =M™
(c) & (d) &
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7. Hfgen =
(a) Tafa (b) Tod:
(c) Iq (d) Taf<
8. O dIfeToh hreard
(a) 393 (b) AT
(c) U1 (d) 3T93:
9. Ya: Whd
(a) g (b) T
(c) %T (d) FrdH
10. =€ HYU:
(a) fdeaf< (b) AR
(c) Hfdeay (d) AfTer:

Computer Application

Answer all questions (MCQ):

11. Which of the following is not an input device?
(a) Keyboard (b) Web Cam

(c) Scanner (d) Printer

12. ISCII stands for
(a) Indian Standard Code for Information Interchange.
(b) Indian Standard Code for International Interchange.
(c) Indian Script Code for Information Interchange.

(d) Indian Suitable Code for Institutional Interchange.

13. The decimal number 17 is equivalent to binary number
(a) 10001 (b) 10101
(c) 01010 (d) 11010

14. Which command is used to restore a sentence erased just now?
(a) Undo (b) Redo
(c) Add (d) Insert

15. Which of the following is an Open Source DBMS?
(a) MySQL (b) Microsoft SQL Server
(c) Microsoft Access (d) Oracle

2x10=20



16.

17.

18.

19.

20.
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Internal communication within institutions is done through
(a) LAN (b) WAN
(c) EBB (d) MMS

Baraha is the Unicode and ANSI text editor for
(a) Indian languages (b) German
(c) French (d) Russian

OCR stands for
(a) Output Character Recognition (b) Optical Character Recognition
(c) Output Character Recorder (d) Optical Character Recorder

Programming language which sometimes called ‘write once, run anywhere’ is
(a) Java (b) Basic
(c) Pascal (d) Ada

Compiler translates
(a) High level language to Machine language
(b) Assembly language to Machine language
(c) Machine language to High level language
(d) Machine language to Assembly language



